



University of Mumbai, Mumbai  
OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date: 25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1039136	NAMDEV VINAYKUMAR RAJENDRA PRASAD - MANJU 2022016402194111 (47)Bhayandar-(890)	58651 40+ 12+ 52 13.00 D 6.00 18.00				FEC101 11+ 11 4.00 4.00				58652 29+ 10+ 39 2.00 D 6.00 12.00				FEL101 13+ 13 0.50 D 6.00 3.00				58655 13F 6+ 19 2.00 F 0.00 0.00				FEL102 22+ 22 0.50 O 10.00 5.00				Unsuccessful -- --
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

Remark: REVALUATION

1039139	RAWAL HARSHIT KETAN MAYA 2023016402231496 (47)Bhayandar-(890)	58651 AA 10+ 10 3.00 F 0.00 0.00				FEC101 18+ 18 1.00 B 8.00 8.00				58652 33E 9+ 42 2.00 D 6.00 12.00				FEL101 21+ 21 0.50 O 10.00 5.00				58655 AA 10+ 10 2.00 F 0.00 0.00				FEL102 21+ 21 0.50 O 10.00 5.00				Unsuccessful -- --
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

Remark: REVALUATION

1039149	GIRKAR MATINKHAN REHMAN SHAHEEN 2023016402076995 (1)Mumbai-(10)	58651 32+ 11+ 43 3.00 P 4.00 12.00				FEC101 12+ 12 1.00 E 5.00 5.00				58652 18F 7+ 25 2.00 F 0.00 0.00				FEL101 15+ 15 0.50 C 7.00 3.50				58655 19F 6+ 25 2.00 F 0.00 0.00				FEL102 18+ 18 0.50 B 8.00 4.00				Unsuccessful -- --
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

Remark: REVALUATION

/ - FEMALE, # - 0.229A, @ - 0.5042A/0.5043A/0.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL-NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date: 25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1039156	CHAUDHARI DURVESH NILESH PALLAVI 2023016402505684 (76)Navi Mumbai-(428)	58651 15F	12+	27		FEC101 17+	17			58652 18F	6+	24		FEL101 19+	19		58655 29+	8+	37		FEL102 20+	20			Unsuccessful -- --				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 22F	10+	32		FEL103 20+	31			58654 36+	12+	48		FEL104 19+	36		FEL105 34+	34											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00								
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1039158	DHONE KRISHNA DEEPAK SAVITA 2022016402088225 (76)Navi Mumbai-(428)	58651 36	11+	47		FEC101 20+	20			58652 25+	6+	31		FEL101 21+	21		58655 26+	6+	32		FEL102 23+	23			Successful 18.00 102.00				
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.67 --			
		58653 34+	10+	44		FEL103 20+	30			58654 36+	8+	44		FEL104 24+	42		FEL105 42+	42											
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
1039162	IDE PRASHANT TUKARAM SHAILA 2023016402505413 (76)Navi Mumbai-(428)	58651 25F	8+	33		FEC101 17+	17			58652 25+	6+	31		FEL101 20+	20		58655 24+	6+	30		FEL102 24+	24			Unsuccessful -- --				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 32+	12+	44		FEL103 19+	29			58654 32+	11+	43		FEL104 21+	42		FEL105 38+	38											
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00								
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date: 25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1039167	PAWAR ROSHAN BABU ANUSAYA 2023016400730185 (76)Navi Mumbai-(428)	58651 24F	9+	33		FEC101 16+	16			58652 24E	8+	32		FEL101 21+	21		58655 24+	9+	33		FEL102 22+	22			Unsuccessful -- --	
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 32+	12+	44		FEL103 19+	29			58654 36+	10+	46		FEL104 22+	37		FEL105 42+	42								
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1039171	NIKALJE SOHAN SAHEBRAO SIMALI 2023016401245972 (76)Navi Mumbai-(428)	58651 32+	9+	41		FEC101 10+	10			58652 24	6+	30		FEL101 18+	18		58655 24+	8+	32		FEL102 18+	18			Successful 18.00 83.00	
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	4.61 --
		58653 32+	8+	40		FEL103 18+	28			58654 37+	10+	47		FEL104 11+	25		FEL105 20+	20								
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	D	6.00	6.00	1.00	P	4.00	4.00					
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
1039172	SAWALE YASH BALAJI ARCHANA 2023016402505436 (76)Navi Mumbai-(428)	58651 24F	8+	32		FEC101 18+	18			58652 18F	8+	26		FEL101 14+	14		58655 24+	8+	32		FEL102 19+	19			Unsuccessful -- --	
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	F	0.00	0.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --
		58653 32+	10+	42		FEL103 20+	37			58654 32+	9+	41		FEL104 20+	40		FEL105 40+	40								
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/0.5043A/0.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL-NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date: 25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1039175	DAKSH DINESH SUVARNA RUHEENA 2023016400721936 (76)Navi Mumbai-(428)	58651 25F	10+	35		FEC101 19+	19			58652 30E	8+	38		FEL101 21+	21		58655 24+	9+	33		FEL102 22+	22			Unsuccessful -- --	
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 33+	10+	43		FEL103 21+	40			58654 52+	9+	61		FEL104 20+	42		FEL105 42+	42								
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	C	7.00	21.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1039176	VARKUTE KUNAL RAMESH RESHMA 2023016400731664 (76)Navi Mumbai-(428)	58651 33	12+	45		FEC101 17+	17			58652 24+	8+	32		FEL101 21+	21		58655 25+	7+	32		FEL102 23+	23			Successful 18.00 101.00	
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.61 --
		58653 36+	12+	48		FEL103 21+	36			58654 32+	8+	40		FEL104 23+	39		FEL105 38+	38								
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00					
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
1039177	VEKHANDE SHUBHAM CHANDRAKANT VATSALA 2023016400720964 (76)Navi Mumbai-(428)	58651 26F	8+	34		FEC101 19+	19			58652 24+	6+	30		FEL101 20+	20		58655 24+	6+	30		FEL102 21+	21			Unsuccessful -- --	
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 32+	10+	42		FEL103 19+	38			58654 32+	12+	44		FEL104 23+	45		FEL105 39+	39								
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00					
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/0.5043A/0.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL-NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date: 25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1039183	BHOIR DEVANG SANJAY VARSHA 2023016401239983 (12) Panvel - (692)	58651 32+	11+	43		FEC101 --	21+	21		58652 17F	7+	24		FEL101 --	18+	18		58655 24+	8+	32		FEL102 --	14+	14	Unsuccessful -- --	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	-- --
		58653 20F	16+	36		FEL103 --	19+	31		58654 24F	9+	33		FEL104 --	18+	38		FEL105 --	46+	46						
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1039185	GHARAT PARTH SHAILESH DARSHANA 2023016401241587 (12) Panvel - (692)	58651 8F	8+	16		FEC101 --	21+	21		58652 24+	6+	30		FEL101 --	17+	17		58655 24+	6+	30		FEL102 --	19+	19	Unsuccessful -- --	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --
		58653 9F	10+	19		FEL103 --	20+	32		58654 32+	12+	44		FEL104 --	18+	39		FEL105 --	45+	45						
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1039186	PATIL ADITYA BALKRISHNA MANJULA 2023016401236683 (12) Panvel - (692)	58651 14F	9+	23		FEC101 --	21+	21		58652 24+	6+	30		FEL101 --	16+	16		58655 24+	6+	30		FEL102 --	18+	18	Unsuccessful -- --	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --
		58653 19F	10+	29		FEL103 --	17+	28		58654 22F	8+	30		FEL104 --	11+	23		FEL105 --	43+	43						
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	E	5.00	5.00	1.00	O	10.00	10.00					
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date: 25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1039190	VISHWAKARMA SONU RAMKISHOR MUNNADEVI 2023016401176497 (12) Panvel - (692)	58651 38+	11+	49		FEC101 21+	21			58652 25E	6+	31		FEL101 18+	18		58655 24E	6+	30		FEL102 18+	18			Unsuccessful -- --	
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --
		58653 15F	13+	28		FEL103 20+	33			58654 32E	8+	40		FEL104 15+	30		FEL105 36+	36								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00					
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1039195	TRIMUKHE NIRANJAN DATTATREYA GEETA 2022016402309091 (12) Panvel - (822)	58651 13F	8+	21		FEC101 10+	10			58652 33+	6+	39		FEL101 14+	14		58655 24+	6+	30		FEL102 18+	18			Unsuccessful -- --	
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	D	6.00	12.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --
		58653 32+	8+	40		FEL103 21+	41			58654 53+	8+	61		FEL104 17+	33		FEL105 34+	34								
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	C	7.00	21.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00					
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1039197	SHAIKH MOHAMMAD TALHA MOHD NASIR - ZILLE HUMA 2023016401201281 (12) Panvel - (944)	58651 13F	10+	23		FEC101 18+	18			58652 25E	7+	32		FEL101 16+	16		58655 24+	9+	33		FEL102 16+	16			Unsuccessful -- --	
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --
		58653 40+	11+	51		FEL103 22+	43			58654 17F	8+	25		FEL104 21+	37		FEL105 27+	27								
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	D	6.00	6.00					
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date: 25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
1039206	GAIKAR ARYAN SANDIP YOJANA 2023016402095346 (5)Thane-(237)	58651 43+	8+	51		FEC101 1--	21+	21		58652 24+	7+	31		FEL101 1--	20+	20		58655 24	7+	31		FEL102 1--	21+	21	Successful 18.00 114.00		
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	6.33 --	
		58653 32+	8+	40		FEL103 1--	18+	33		58654 47+	15+	62		FEL104 1--	21+	41		FEL105 1--	41+	41							
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	C	7.00	21.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
Remark: REVALUATION																											
1039207	JAYDEEP KISAN GHADGE AARTI 2023016402091221 (5)Thane-(237)	58651 32+	8+	40		FEC101 1--	17+	17		58652 24+	6+	30		FEL101 1--	13+	13		58655 24+	6+	30		FEL102 1--	11+	11	Unsuccessful -- --		
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	-- --	
		58653 33+	8+	41		FEL103 1--	13+	31		58654 16F	12+	28		FEL104 1--	13+	30		FEL105 1--	41+	41							
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00						
		Total Credit --				FINAL CGPI --				FINAL GRADE --																	
Remark: REVALUATION																											
1039218	MHATRE JIGNESH JAGDISH SHOBHA 2023016401215636 (5)Thane-(996)	58651 39+	10+	49		FEC101 1--	14+	14		58652 24	6+	30		FEL101 1--	15+	15		58655 24+	7+	31		FEL102 1--	18+	18	Successful 18.00 95.50		
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	5.31 --	
		58653 32+	8+	40		FEL103 1--	19+	37		58654 33+	14+	47		FEL104 1--	19+	34		FEL105 1--	38+	38							
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
Remark: REVALUATION																											

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL-NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date: 25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1039220	TALWALKAR YASH RAJESH VANDANA 2023016401215547 (5)Thane-(996)	58651 34+	12+	46		FEC101 --	20+	20		58652 17F	6+	23		FEL101 --	20+	20		58655 24+	7+	31		FEL102 --	21+	21	Unsuccessful -- --				
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 32+	8+	40		FEL103 --	22+	39		58654 35+	10+	45		FEL104 --	22+	40		FEL105 --	38+	38									
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
Remark: REVALUATION																													
1039222	CHAUHAN DEEP NITUL ARTI 2023016401209164 (22)Vasai-(466)	58651 21F	8+	29		FEC101 --	10+	10		58652 29E	8+	37		FEL101 --	17+	17		58655 24+	8+	32		FEL102 --	18+	18	Unsuccessful -- --				
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --			
		58653 35E	8+	43		FEL103 --	17+	28		58654 8F	8+	16		FEL104 --	21+	41		FEL105 --	44+	44									
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
Remark: REVALUATION																													
1039223	CHORGHE MRUNAL NAGESH JAYASHREE 2023016401246453 (22)Vasai-(466)	58651 37+	8+	45		FEC101 --	11+	11		58652 24+	6+	30		FEL101 --	19+	19		58655 24+	7+	31		FEL102 --	18+	18	Unsuccessful -- --				
		3.00	E	5.00	15.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --			
		58653 33E	9+	42		FEL103 --	19+	29		58654 19F	8+	27		FEL104 --	21+	40		FEL105 --	44+	44									
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
Remark: REVALUATION																													

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL-NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date: 25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	SGPI	GRADE
1039229	SWARAJ NARESH THAKARE NIKITA	58651				FEC101				58652				FEL101				58655				FEL102					Unsuccessful
	2023016402302084	10F	8+		8	--	20+		20	10F	9+		19	--	21+		21	24+	9+		33	--	19+		19	--	--
	(26)Wada-(991)	13.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	--	--
		58653				FEL103				58654				FEL104				FEL105									
		21F	9+		30	--	12+		24	8F	9+		17	--	10+		28	--	38+		38						
		13.00	F	0.00	0.00	1.00	E	5.00	5.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	A	9.00	9.00						
		Total Credit --				FINAL CGPI --				FINAL GRADE --																	

Remark: REVALUATION

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

